alfaRotAngle: 60 18mar08 TotPwr [1375—1525Mhz] smooth to 20.2 ms
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Peak power vs tm about AeroStat radar
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Peak power vs tm about Remy radar
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alfaRotAngle: 60 18mar08 TotPwr [1375—1525] Normalized to Tsys
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Pk pwr (1.328MHz RBW) about AeroStat radar
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Pk pwr (1.328MHz RBW) about Faa radar
40 =
-
2 s0f]
2 H £
= 20 FH —
< H g
S5 g E
£ 1o
of | :
2.50 2.55 2.60 2.65 2.70 2.75
time [secs]
Pk pwr (1.328MHz RBW) about Remy radar
40 - E
2 E E
2 0 :
2 E E
5 E
£ o =
o 0ot LR AMARCL LA b 0
2.50 2.55 2.60 2.65 2.70 2.75

time [secs]



